Geometry A Name: __ ANSWRY KC\J
Review for Quiz on Properties of Circles (10.1, 10.2, 10.4) Date:

1) Identify each line or segment that
intersects ©L.

chords: ;TKA, KM &
—

secant: JM m

tangent: it m

diameter: K

radii: T, IM, LT M

Use the diagram to the right to complete questions 3-6
2) Radiusof ®S = |.5UNITS
3) Diameter of @S = dUNITS
4) Radius of OR = 2 ynitT
5) Diameter of OR = 4 un{is

How many common tangents do the two circles have? Draw them.
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8) Is EF tangentto®D?
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at+btc*

loter (r+8)l
c 2btl’: (v4§)(r+8)
leﬂJ:Y:&Y+?V*bq

, ’ %6 +I”=)/:+sww“}
N / b
~— 260 :mnydr
o4 g4

by  -b%
&‘—l’% a;m

lo

16 ft.=(




10) Early in its flight, the Apollo 11 spacecraft orbited Earth 120 miles above the Earth’s atmosphere. What was the
distance from the spacecraft to Earth’s horizon rounded to the nearest mile? Let C be the center of Earth, E be
the spacecraft, and H be a point on the horizon.
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11) AB is tangent to OC at B. AD is tangent to OC at D. Find the value of x.
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12) HK and HG are tangent to OF . Find HG.
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For the following questions use the following diagram
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17) Find the measure of Zé and EC . Are they congruent?
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Find the measure of the arc or angle indicated.
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Find the values of the missing variables.
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6) In the figure, the segments that appear to be tangent are tangent. Find x and the perimeter of AABC.
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27) The director of a telecast wants the option of showing the same scene from three different views. Explain
why cameras in the position shown in the diagram will transmit the same scene.
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